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Ã
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º	å��#æàµ=¶�¿J·~ç%è�²�¾Gé¯µ=ê#µ=¶�·¡¸5��¾GéÀ³ } ��ë3»	»	» �+Â ·¡¸�ì ½ ¸5� � ² Â ´Jµ	³ ½ µ
Ã
Ä�Å µ ½ Â�ÆàÐ¡Ô�Ï=Î�ÏJí�ÉJî�Ï�Ë	ï�ÉJÔ¡Ê5Ï�Ì	ðñÍ6ò	ÉAÊôó­Ð	É	ÒàÌ=Ï3ËJÔ3õàÑ:ö�ð3ÉJî�÷�Ì:îÕÍ�Î3Ç
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º¡ë�� �Ýù µ	³ � ¾ Á ¶1��¾GéÀ³ } ��ëJ»	»J» �%Â ·¡¸�ì ½ ¸5� � ² Â ´3µ=³ ½ µ
Ã
Ä�Å µ ½ Â�Æ�ð=õ�Î3ö�É	ö�Ë	õ�ð�ò�òñÍ�ö3õ�Í�Ï�ò¡Ï3÷ÕÍTÎ�Ç
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�9`�Á ú ·�· Â
½ ¶�´§·�a é `�½ ¶ Â ½Bb ² ½ ìdc Â Å ¾ ½ ¾ ½ Åfe ·J³Gé6µ=¶3é�ì�²�³ ½ ¶�´~¾À· Å Á e ³À· ú9Á ¾¯¾ Á ¾9� Á	} ´ } ¶�·J¶ Ä
½ ¾À·=é `�Á ³ Å µ Â c Â Å ìSg3¶#µ Å ½
ú ¾9�ih `�Á ¶bé `�Á é Á Åfe Á ³¯µ=éÀ²�³ Á ì ½ ¾�é¯³ ½ ê�²�é ½ ·J¶ ½ ¶=j#² Á ¶ ú9Á ¾�é `�Á
Â ½Bb ² ½ ìkc Â Åle ` g�¾ ½ ú µ Â e ³¯· e Á ³Àé ½
Á ¾A� Â
Á µJì ½ ¶�´ éÀ· � µ	³¯µ	¶�´	·J¶ ½"ú ·J¶�¸ ÁAú é ½ ·	¶1��·	³ e ` µJ¾ Áú�` µ=¶�´ Á ¾ e ³¯· úRÁ ¾¯¾ Á ¾A��h `�Á ¶äé `�Á Â
½Bb ² ½ ìmc Â Å ¾À· Â
½ ì ½ c Á ¾6n¦µJ¾ôì ½ ¾ ú ²#¾À¾ Á ì ½ ¶poL¼3�	q
rts }

u a�é `�Á c Â Å ½ ¾ ¸ Á ³/g é `�½ ¶vn ½ é¯¾'é `�½ ú ¿�¶ Á ¾¯¾ ½ ¾ Â
Á ¾¯¾�é ` µ=¶ é `�Á ú ³ ½ é ½ ú µ Â é `�½ ú ¿�¶ Á ¾¯¾
10−7−10−8m s�� ½ é ú µ=¶ ³¯² e éÀ²�³ Á ²�¶�ì Á ³Ýé `�Á µ ú é ½ ·	¶ ·�a�é `�ÁÕ½ ¶3é Á ³ Å · Â Á:ú ² Â µ=³ µ=éGé¯³¯µ ú é ½ ¸ Á
¸�µ	¶�ì Á ³�w µ	µ Â ¾0a£·	³ úRÁ ¾xo ë��Qy�r }5�9`�ÁDÂ µ¡éÀé Á ³!a£·J³ ú9Á ¾ ` µ�¸ Á ì Á ¾�é6µ=ê ½
Â
½ ùA½ ¶�´ Á$z5ÁAú é�·	¶.é `�Á



û	»	» ������±¯�¡¤~¬��	�¡Ù%®��ôÚ# 	â6 ��J�¡Þ¡ �Ù��	�1ã��¯Ø��¡Þ¡ 
é `�½ ¶)c Â Å ì=g�¶�µ Å ½ ú ¾ } u ¶ o ë�r�é `�ÁôÁ$z5ÁAú é+·
a#¸¡µ	³/g ½ ¶�´"é `�Á Å µ=´	¶ ½ é¯²�ì Á ·
a5¸¡µ=¶�ì Á ³�w µ	µ Â ¾
a£·	³ úRÁ ¾xn�é ` ³À·J²�´ ` é `�Á ì ½ Å Á ¶�¾ ½ ·J¶ Â Á ¾À¾�
"µ Å µ	¿ Á ³ ú ·	¶�¾Gé¯µ	¶3é A sô·J¶­é `�Á ì�³6µ ½ ¶�µ	´ Á µ=¶�ì
³À² e éÀ²�³ Á ·�aàµÛé `�½ ¶ a£³ Á9Á c Â Å ½ ¾Õ¾GéÀ²#ì ½ Á ì } u é ½ ¾Õ¾ ` ·�hô¶�é ` µ¡é ½ a A = 0.01 µ=¶�ì Re = 1 �
é `�Á ¶­é `�Á ¸¡µ=¶.ì Á ³4w µ	µ Â ¾ a£·J³ ú9Á�½ ¾ Á
� éÀ³ Á Å ÁAÂ gdh Á µ	¿'µ=¶�ì­¶�·~³À² e éÀ²�³ Á · ú9ú ²�³¯¾A�=h `�½
Â Á
a£·	³ `�½ ´ `�Á ³ô¸¡µ Â ² Á ¾�·�a A µ	¶�ì Re é `�Á ³À² e éÀ²�³ Á�½ ¾�·	ê�¾ Á ³¯¸ Á ì }

u é ½ ¾Õµ Â ¾À· ½ ¶3é Á ³ Á ¾Gé ½ ¶�´ éÀ· Á
� µ Å ½ ¶ Á!` ·�hmé `�Á ¾ Á"½ ¶3é Á ³ Å · Â
ÁAú ² Â µ=³%µ=éGéÀ³6µ ú é ½ ¸ Á a£·J³ ú9Á ¾½ ¶=j#² Á ¶ ú9Á é `�Ád`�Á µ=éDµ=¶�ì���·	³ Å µJ¾À¾�é¯³¯µ	¶�¾ a Á ³ } u ¶ o ¹:»�r%é `�Á º=ç Á ¸	· Â ²�é ½ ·	¶ Á�b ²�µ=é ½ ·	¶�¾
·
a µ e Â µ	¶�µ=³<c Â Å ì=g�¶�µ Å ½ ú ¾%µ	¶�ì ¾À²�³/a¦µ ú é¯µ=¶3éÕì ½ ¾GéÀ³ ½ ê�²�é ½ ·	¶äµ=³ Á ¾�é¯²�ì ½
Á ì ¶3² Å Á ³ ½ ú µ Â Â g½ ¶ µ ú µ	¾ Á ·�aAa£³ ÁAÁ é `�½ ¶ c Â Å ¾ µ=¶�ìLc Â Å ¾A� ú ·3µ¡é ½ ¶�´ä¾G· Â ½ ì�¾À²�³/a¦µ úRÁ ¾ }à�9`�Á ¾À²�³ a¦µ ú é6µ=¶3é¯¾
µ=³ Á a£·J²�¶�ì�éÀ·.µ ú9ú ² Å ² Â µ=é Á µ¡é�é `�Á é `�½
ú ¿ Á ³ e µ=³Àé�·
a%é `�Á c Â Å ¾�µ	¶�ì�é¯·­ê�³ Á µ=¿�² e µ¡é
é `�Á ³À² e éÀ²�³ ÁDù ·	¶ Á ¾ }��9`�½ ¾�³ Á ¾À² Â é ½ ¾ ú ·	¶=c#³ Å Á ì ½ ¶ o
¹$r
µ	¾�µ ¾ e ÁAúR½ µ Âñú µJ¾ Á ·
aÕµ Å ·J³ Á
´ Á ¶ Á ³6µ Â û	ç Å ·�ì Á9Â ·
a ú ²�³¯¸ ½
Â
½ ¶ Á µ=³!a£³ ÁAÁ c Â Å ì=g�¶�µ Å ½ ú ¾�µ	¶�ì�¾À²�³/a¦µ ú é6µ=¶3é¯¾"éÀ³6µ=¶#¾(a Á ³ }
�9`�Á a£· Â
Â ·�h ½ ¶�´ ¾ e ÁAú9½ µ Â�ú µJ¾ Á ¾Ý·�a e ³6µ ú é ½ ú µ Â3½ ¶3é Á ³ Á ¾�é+µ=³ Á µ Â ¾G·�ì ½ ¾ ú ²�¾¯¾ Á ì ½ ¶mo
¹$r Æ=úRÂ ·J¾ Á ì
¾ e `�Á ³ ½
ú µ Â ê�²�ê�ê Â Á ¾9� ½ ¶=c�¶ ½ é Á�ú g Â
½ ¶�ì�³ ½
ú µ Â c Â Å ¾
µ	¶�ì ú µ¡é Á ¶�· ½ ì�¾ } u ¶mo
¹	¹'r�é `�Á ì=g�¶�µ Å ½ ú ¾
·
aàµ>c Â Å ��a£·J³ Å Á ì§ê Á é(h Á9Á ¶Dé(h�·Û¾À²�³ a¦µ ú é6µ=¶3é Ä ú ·3µ¡é Á ìÛì�³¯· e ¾
µ eSe ³¯·Jµ ú�`�½ ¶�´ Á µ ú�` ·=é `�Á ³
µ¡é ú ·	¶#¾�é6µ=¶3éä¸ Á9Â · úR½ é(g	� ½ ¾�¾GéÀ²�ì ½ Á ìjê.gw²�¾ ½ ¶�´ é `�Á Â ²�ê�³ ½ ú µ¡é ½ ·J¶té `�Á ·J³/gJ� h `�Á ¶té `�Á
¸�µ	¶�ì Á ³�wbµJµ Â ¾9a£·	³ úRÁ ¾�µ=³ Á é¯µ	¿ Á ¶ ½ ¶3éÀ·­µ ú9ú ·	²�¶3é } u é ½ ¾ e ³¯·¡¸ Á ì é ` µ¡é"é `�Á ¾G²�³/a¦µ ú é¯µ	¶Jéú ·	¶ úRÁ ¶3é¯³¯µ=é ½ ·	¶­ì Á e Â
Á é Á ¾ ½ ¶ é `�Á c Â Å ì�³6µ ½ ¶�µ	´ Á ³ Á ´ ½ ·	¶�¾ }

� ³ Á ¸ ½ ·J²�¾�µ=¶�µ Â g�¾ ½ ¾ ` µ�¸ Á é6µ=¿ Á ¶ ½ ¶3éÀ·�µ ú9ú ·J²�¶3é�·J¶ Â g�ì=g�¶�µ Å ½ ú ¾ µ	¶�ì ¾G²�³/a¦µ ú é¯µ	¶Jé
éÀ³6µ=¶�¾ a Á ³:��h `�½ Â
Á é `�Á�`�Á µ¡é~éÀ³6µ=¶�¾ a Á ³ ½ ¶ é `�½ ¶ c Â Å ¾ ` µ	¾~ê Á9Á ¶ e ·�·	³ Â g ½ ¶�¸ Á ¾Gé ½ ´Jµ=é Á ì
o ¼��9q�r }��9`�Á ¾À· Â
½ ì ½ c ú µ¡é ½ ·	¶j·
a§µ a£³ ÁAÁ é `�½ ¶ c Â Å ½ ¶rµ é `�Á ³ Å ·J¾Gé¯µ=é ½ ú µ eSe ³¯·Jµ ú�`w½ ¾ú ·	¶#¾ ½ ì Á ³ Á ì ½ ¶ o q
r }3�9`�Á ûJç e ³¯·	ê Â
Á Å ½ ¾%³ Á ì�² ú9Á ì~éÀ·§µÛº=ç ú ·	²�¶3é Á ³ e µ=³Àé+ê Á:ú µ	²�¾ Á é `�Á
c Â Å ½ ¾ úRÂ ·J¾ Á éÀ·~µ6a£³ Á9Á�Â ½Bb ² ½ ì��¡¾À· Â
½ ìs¾ `�Á9Â
Â Ä Â
½ ¿ Á ê�·�ì=gfh ½ é ` ¸¡µ=³ ½ µ	ê Â
Á ¾ Å µ Â Â é `�½ ú ¿�¶ Á ¾¯¾
¾ g Å�Å Á éÀ³ ½ ú é¯·'µ Å ½ ì�ì Â
Á e Â µ=¶ ÁJ}

�9`�Á�ú ²�³¯³ Á ¶3édhÕ·J³À¿ ½ ¾'µ	¶ Á
� é Á ¶�¾ ½ ·	¶ ·�a e µ e Á ³¯¾Lo û��+ë
r�� `�Á ³ Á h Á�½ ¶ ú ·	³ e ·	³6µ¡é Á
é `�Á:`�Á µ=é"éÀ³6µ=¶#¾(a Á ³ ½ ¶Jé¯·sé `�Á ¾/g�¾Gé Á Å ì Á ¾ ú ³ ½ ê ½ ¶�´'é `�Á ì=g�¶�µ Å ½ ú ¾�·�a%µfa£³ Á9Á é `�½ ¶ c Â Å
µ¡éGé6µ ú�`�Á ì�é¯·�µ.³ Á:ú é6µ=¶�´J² Â µ	³>a£³¯µ Å Á ¾À²�³¯³À·J²�¶�ì Á ì�ê.gbµ=¶ µ Å ê ½ Á ¶JéÛ´3µ	¾ }1�9`�Á c Â Å ½ ¾
µ	¾¯¾G² Å Á ì�éÀ·§ê Á�½ ¶ ½ é ½ µ Â Â g ` ·=é�µ=¶�ì ½ é ½ ¾ ú ·�· Â
Á ì'ê�g ú ·	¶�ì�² ú é ½ ·	¶ � ú ·	¶�¸ Á:ú é ½ ·	¶'µ	¶�ìs³6µ Ä
ì ½ µ=é ½ ·	¶ h ½ é ` é `�ÁÛú · Â ì Á ³ôµ Å ê ½ Á ¶3é�´3µ	¾ }��9`�Á c Â Å ½ ¾�²�¶#ì Á ³�é `�Á µ ú é ½ ·	¶ ·�a ú µ e ½
Â Â µ=³*g
µ=¶�ìb¸¡µ=¶ ì Á ³6wbµJµ Â ¾ a£·	³ úRÁ ¾ µ=¶�ì ½ ¾D¾ g Å�Å Á éÀ³ ½ ú h ½ é ` ³ Á ¾ e ÁAú é é¯·�µ Å ½ ì�ì Â
Á e Â µ=¶ Á	}
�9`�Á Å ·�ì Á9Â#½ ¾Õê�µJ¾ Á ì�·	¶�é `�Á"Á ¸J· Â ²�é ½ ·	¶#µ=³*gD¾ g�¾Gé Á Å ��h `�½ ú�`s½ ¾�ì Á ³ ½ ¸ Á ì ½ ¶LoL¼�r+a£·	³+é `�Á
¶�·	¶�¾Gé¯µ=é ½ ·	¶�µ	³/gs¶�·	¶ Â
½ ¶ Á µ=³�é `�Á ³ Å ·���ì=g�¶�µ Å ½ ú e ³¯·	ê Â Á Å } u é¯¾ô·J¶ Á ��ì ½ Å Á ¶�¾ ½ ·	¶#µ Â a£·	³ Å½ ¾�¾À· Â ¸ Á ì ¶�² Å Á ³ ½
ú µ Â
Â g�ê.g'µ c#¶ ½ é Á ì ½#z5Á ³ Á ¶ úRÁ ¾ ú�`�Á Å Á	} ý�² Å Á ³ ½ ú µ Â ³ Á ¾G² Â é¯¾�ì Á ¾ ú ³ ½ ê Ä
½ ¶�´�é `�Á c Â Å ¾ ` µ e Á � Â ·	¶�´ ½ é¯²�ì ½ ¶�µ Â ¸ ÁAÂ · ú9½ é(g µ=¶�ì é Á Åfe Á ³6µ¡é¯²�³ Á µ=³ Á e ³ Á ¾ Á ¶3é Á ì a£·	³
ì ½#z5Á ³ Á ¶3é �ôÁ g�¶�· Â ì�¾�¶�² Å ê Á ³6¾A�#ì ½ Å Á ¶�¾ ½ ·J¶ Â
Á ¾¯¾�
�µ Å µ=¿ Á ³ ú ·	¶�¾Gé¯µ	¶Jé6¾"µ	¶�ì�³6µ	ì ½ µ¡é ½ ·J¶
¶3² Å ê Á ³6¾ }

�9U�� YSZ	������� �4ZAY��C\�� �iXS_ Z W

! �#"+��$�%'&��)(�*+&-,/. �=��0#1�%
�9`�Á j�² ½ ì ½ ¾�é6µ=¿ Á ¶ µ	¾ ý Á h�éÀ·J¶ ½ µ	¶ ¸ ½ ¾ ú ·	²#¾ Â
½Bb ² ½ ì h ½ é ` ú ·J¶�¾Gé¯µ=¶3éÛì Á ¶�¾ ½ é(g ρ � ì=g Ä
¶�µ Å ½ ú ¸ ½ ¾ ú ·J¾ ½ é(g µ �=¾À²�³/a¦µ úRÁ é Á ¶�¾ ½ ·	¶ σ ��é `�Á ³ Å µ Â�ú ·	¶#ì�² ú é ½ ¸ ½ é(g κ µ=¶�ì `�Á µ=é ú µ e µ úR½ é(g
c
}32 ·J³�é `�Ású ·J¶�¾ ½ ì Á ³ Á ì e ³¯·	ê Â
Á Å nTµ	¾ ½ ¶ o û��àë�r s��5é `�Á é `�½ ¶ Â ½Bb ² ½ ìLc Â Å ½ ¾ ¾À² eSe ·J¾ Á ì

éÀ·�ê Á ¾/g Å�Å Á éÀ³ ½
ú µ Â
Â g'µ=éGé6µ ú�`�Á ì'é¯·�µ~³ ÁAú é¯µ=¶�´	² Â µ=³ ` ·J³ ½
ù ·J¶Jé6µ Â a£³¯µ Å Á h ½ é ` µ�¾Gé¯µ=ê Â Á
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úRÁ ¶3é Á ³ e Â µ=¶ Á

z = 0
}à��Â é ` ·J²�´ ` é `�Á c Â Å Å Á ì ½ µ ½ ¾ ú ·J¶�¾ ½ ì Á ³ Á ì�µ	¾�µ�j�² ½ ì ú ·J¶3é ½ ¶ Ä

²�² Å � é `�Á c Â Å ½ ¾Dµ	¾¯¾À² Å Á ìbéÀ·�ê Á é `�½ ¶ Á ¶�·	²�´ ` a£·	³Ûé `�Á ½ ¶3é Á ³ Å · Â
ÁAú ² Â µ=³Û¸¡µ=¶ ì Á ³
wbµJµ Â ¾ a£·	³ úRÁ ¾Õé¯·'µ ú éô·J¶ ½ é"µ=¶#ì'é¯·~¶ Á ´ Â
ÁAú éôé `�Á ´J³¯µ�¸ ½ é(gsµ ú é ½ ·J¶ }

��� µ	³Gé Á ¾ ½ µ	¶ ú ·�·	³6ì ½ ¶�µ¡é Á ¾/g�¾�é Á Å
(x, y, z) �Qh `�½ ú�`�½ ¾ ú ·	¶�¶ ÁAú é Á ì�éÀ·äé `�Á a£³6µ Å Á

x = ±a � y = ±b n a ≤ b s�� ½ ¾ ½ ¶3éÀ³¯·�ì�² ú9Á ì }��9`�Á Å Á µ	¶ é `�½ ú ¿3¶ Á ¾¯¾ ·
a�é `�Á c Â Å
εa½ ¾ Å ² ú�` ¾ Å µ Â
Â
Á ³�é ` µ	¶�é `�Á�ú�` µ	³¯µ ú é Á ³ ½ ¾Gé ½ ú�Â Á ¶�´=é ` a � ½�} ÁJ} � ε << 1

}��9`�Á ¶�é `�Á c Â Å
a£³ ÁAÁ ¾ g Å�Å Á éÀ³ ½ ú µ Â ¾G²�³/a¦µ ú9Á ¾ ` µ�¸ Á e ·3¾ ½ é ½ ·	¶#¾ z = ±h/2 � h `�Á ³ Á h(x, y, t) = O(ε)ì Á é Á ³ Å ½ ¶ Á ¾Dé `�Á c Â Å ¾ ` µ e ÁJ} � ½ ¶ ú9Á é `�Á c Â Å ½ ¾�¾/g Å�Å Á é¯³ ½ ú h ½ é ` ³ Á ¾ e Á:ú éDé¯·�é `�Á
Å ½ ì�ì Â
Á e Â µ	¶ Á

z = 0 �#é `�Á é Á Åfe Á ³6µ¡é¯²�³ Á c ÁAÂ ì ½ ¾�µ Â ¾À·­¾/g Å�Å Á é¯³ ½ ú θ∗(z) = θ∗(−z)µ=¶�ì é `�Á ¾/g Å�Å Á éÀ³*g ú ·J¶�ì ½ é ½ ·	¶.·	¶ z = 0 ³ Á µJì�¾ o q�r Æ

θ∗z = 0, for z = 0 . nTº } ¹�s
� go²�¾ ½ ¶�´ é `�Á ¾ g Å�Å Á éÀ³*g µJ¾À¾À² Åfe é ½ ·J¶1�!h Á ¾G·J²�´ ` é�é `�Á é Á Åfe Á ³¯µ=éÀ²�³ Á a£²�¶ ú é ½ ·	¶
θ∗(x, y, z, t) µJ¾ôµ=¶.µ	¾/g Å)e éÀ·=é ½
ú�Á � e µ=¶�¾ ½ ·J¶

θ∗(z) = θ0 +

∝
∑

k=1

z2kθ2k, −
h

2
≤ z ≤

h

2
. n�º } º�s

�9`�½ ¾4a£·	³ Å ¾Àµ=é ½ ¾(c Á ¾ ½ ì Á ¶3é ½ ú µ Â Â g n�º } ¹�s�µ=¶�ì é `�Á ¾ g Å�Å Á éÀ³*g µJ¾À¾À² Åfe é ½ ·	¶ }
� é�é `�Á µ=ê�¾ Á ¶ úRÁ ·
a `�Á µ¡é�¾G·J²�³ ú9Á ¾�é `�ÁDÁ ¶ Á ³¯´�g ú ·	¶#¾ Á ³À¸¡µ¡é ½ ·J¶ Â µ�h a£·	³"é `�ÁÛÂ
½Bb ² ½ ì

c Â Å ½ ¾�´ ½ ¸ Á ¶ ½ ¶äé `�Á ½ ¶3é Á ´	³6µ Â a£·J³ Å Æ

d

dt

∫

ρcθ∗dv = −

∫ ,
∗ ·

%
ds , n�º } û�s

h `�Á ³ Á é `�Á�½ ¶3é Á ´	³6µ¡é ½ ·	¶ ½ ¾�ì�·J¶ Á ·¡¸ Á ³+é `�Á h ` · Â
Á c Â Å ¸J· Â ² Å Á µ=¶#ì ¾À²�³ a¦µ úRÁ �J³ Á ¾ e Á:ú Ä
é ½ ¸ Á9Â g } 
 Á ³ Á ,

∗
½ ¾�é `�Á `�Á µ¡é!j#² � µ	¶�ì % é `�Á ²�¶ ½ é�·	²�é(h�µ	³¯ìä¶�·J³ Å µ Â ¸ ÁAú éÀ·J³ôéÀ·sé `�Á

c Â Å ¾G²�³ a¦µ úRÁ	}��9`�Á6`�Á µ¡é9j�² � ½ ¾ô¾À² eSe ·J¾ Á ì éÀ·s·Jê Á gsé `�Á 2 ·	²�³ ½
Á ³ Â µ�h � , ∗ = −κ∇θ∗½ ¶�¾ ½ ì Á é `�Á c Â Å µ=¶�ì éÀ· ê Á ì�² Á éÀ· ³6µ	ì ½ µ¡é ½ ·J¶ h ½ é ` µ Å ê ½
Á ¶3és·	¶hê#·	é ` c Â Å a£³ Á9Á
¾G²�³/a¦µ ú9Á ¾ Æ

,
∗ ·

%
= β(θ∗4 − θ4

a) at z = ±h/2, nTº } ë.s
h `�Á ³ Á β

½ ¾�é `�Á ³¯µJì ½ µ=é ½ ·	¶ ú · Á	�'ú9½ Á ¶Jé�µ	¶�ì θa

½ ¾ôé `�Á µ Å ê ½
Á ¶3é�é Á Å)e Á ³6µ¡é¯²�³ Á	}
u ¶Jé Á ´J³¯µ=é ½ ¶�´ Á�b ²�µ=é ½ ·	¶ n�º } û�s+µ Â ·J¶�´�é `�Á c Â Å é `�½ ú ¿�¶ Á ¾¯¾ z ∈ [−h/2, h/2] ��é6µ=¿ ½ ¶�´½ ¶3éÀ·.µ úAú ·J²�¶3é)nTº } º�s�µ	¶�ì n�º } ë�s��Qh Á ·Jê�é¯µ ½ ¶�é `�Á~Â · ú µ Â a£·	³ Å ·
a+é `�Á§Á ¶ Á ³¯´�g.ê�µ Â µ	¶ úRÁ

Á�b ²�µ¡é ½ ·J¶ nT¾ ÁAÁ o º���¼3�	q�r s }#�rÂ Á µ	ì ½ ¶�´~é Á ³ Å ·
aÝ·J³¯ì Á ³ O(ε)
½ ¾ô´ ½ ¸ Á ¶­µ	¾ a£· Â Â ·�h�¾ Æ

ρch
{∂θ0

∂t
+ 
 s · ∇sθ0

}

= κ∇s(h∇sθ0) + 2β(θ4
a − θ4

0),
n�º } å�s

h `�Á ³ Á 
 s = (u0, v0)
½ ¾%é `�Á ¾G²�³ a¦µ úRÁ c Â Å ¸ ÁAÂ · ú9½ é(g�¸ Á:ú é¯·	³Õµ	¶�ì ∇s

é `�Á ¾À²�³/a¦µ ú9Á ´	³6µ Ä
ì ½ Á ¶3é } w Á ¶�·=é Á é ` µ¡é (u0, v0)

µ=³ Á é `�ÁÕÂ Á µ	ì ½ ¶�´�·	³6ì Á ³ é Á ³ Å ¾ ½ ¶Dµ�¾ ½ Å ½ Â µ=³�µ	¾/g Åfe é¯·=é ½
úÁ
� e µ=¶#¾ ½ ·	¶.µ	¾ nTº } º�s���ê�²�é4a£·	³�é `�Á Â ·J¶�´ ½ éÀ²#ì ½ ¶#µ Â ¸ ÁAÂ · ú9½ é(g nT¾ ÁAÁ nTº } ¹�s ½ ¶po û
rts }

! � ! ��� *3% ��
 0;�m��* ��� &�



 Á ³ Á h Á ¾ ` µ Â Â ³ ÁAú µ Â
Â é `�Á ìSg3¶#µ Å ½
ú ¾ g�¾Gé Á Å ��h `�½ ú�` h�µ	¾~ì Á ¸ Á9Â · e Á ì ½ ¶ o û���ë
r } u é
ì Á ¾ ú ³ ½ ê Á ¾�é `�Á c Â Å é `�½
ú ¿�¶ Á ¾À¾ôµ	¶�ìä¾G²�³/a¦µ ú9Á ¸ Á9Â · úR½ é(g Á ¸J· Â ²�é ½ ·	¶­·
añ·	³6ì Á ³ O(ε)

Æ
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









ht + ∇s · (h 
 s) = 0,

ρ
D 
 s

Dt
=

1

h
∇s · T̂,

n�º } � s

h `�Á ³ Á
T̂ = −P + T

½ ¾�é `�Á ¾G²�³ a¦µ úRÁ c Â Å ¾GéÀ³ Á ¾¯¾%é Á ¶�¾À·	³:�
P

½ ¾�é `�Á e ³ Á ¾¯¾G²�³ Á é Á ¶#¾G·J³

P = −0.5σ
[

h∇2
shIs + 0.5(∇sh)2Is −∇sh ⊗∇sh

]

+ 1.5hφ ,

µ=¶�ì é `�Á ¸ ½ ¾ ú ·	²�¾ô¾GéÀ³ Á ¾¯¾Õé Á ¶�¾G·J³
T

½ ¾ô´ ½ ¸ Á ¶ ê.g

T = 2µh
{

(∇s · vs) Is + 0.5
[

∇svs + (∇svs)
T
]}

.


 Á ³ Á
Is

½ ¾+é `�Á"½ ì Á ¶Jé ½
ú µ Â ¾G²�³ a¦µ úRÁ é Á ¶�¾À·	³:� φ = A
′

h−3/(6πρ)
½ ¾+é `�Á e ·=é Á ¶3é ½ µ Â a£²�¶ ú Ä

é ½ ·	¶�·�a+¸¡µ=¶�ì Á ³�w µ	µ Â ¾!a£·	³ úRÁ ¾9� A
′ ½ ¾"é `�Á 
�µ Å µ=¿ Á ³ ú ·	¶�¾Gé¯µ	¶3é:n A′

∼ O(10−20J) sµ=¶�ì T ¾�é6µ=¶�ì�¾ a£·	³'é¯³¯µ	¶�¾ e ·3¾ ½ é ½ ·	¶ } Ã b ²�µ¡é ½ ·J¶�¾ n�º } � ssµ	³ Á ·Jê�é¯µ ½ ¶ Á ì µ�a�é Á ³­µ ¾ ½ Å ½ Ä
Â µ	³�µJ¾ g Åfe é¯·=é ½ ú µ=¶�µ Â g�¾ ½ ¾�·
a%é `�Á a£² Â
Â ý"µ�¸ ½
Á ³ Ä ��éÀ·	¿ Á ¾ Á�b ²�µ¡é ½ ·J¶�¾>h ½ é ` µ eSe ³¯· e ³ ½ µ¡é Á
ê#·J²�¶�ì�µ	³/g ú ·	¶�ì ½ é ½ ·J¶�¾�·	¶ma£³ ÁAÁ ¾G²�³/a¦µ ú9Á ¾�·�a é `�Á c Â Å }

! ��� ��� %'&�� 0 
 &-%i� 0 1�%i��� 
 1	�'&
�

u a1é `�Á�Â
Á ¶�´	é ` ·�a1·	¶ Á a£³¯µ Å Á"½ ¾ Å ² ú�` ê ½ ´	´ Á ³%é ` µ	¶'é `�Á ·	é `�Á ³Õ·J¶ Á � ½T} Á	} � b � a �Jé `�Á ¶
é `�Á Á�z�Á:ú é¯¾ ½ ¶ y ì ½ ³ ÁAú é ½ ·	¶.µ=³ Á ¶ Á ´ Â
½ ´ ½ ê Â Á ·J¶­é `�Á ì=g�¶�µ Å ½ ú ¾ôµ	¶�ì ú ·�· Â
½ ¶�´���µ	¶�ì'é `�Á
é `�Á ³ Å ·���ì=g�¶�µ Å ½ ú e ³À·Jê Â
Á Å ì Á e Á ¶�ì�¾ô·J¶ Â g ·	¶ (x, t)

}��9`�Á ¾/g�¾Gé Á Å n�º } å�s	� nTº } � s ½ ¶½ é6¾�ì ½ Å Á ¶�¾ ½ ·J¶ Â Á ¾À¾ a£·J³ Å ¾ ½ Åfe Â ½ c Á ¾�éÀ· Æ

∂h

∂t
+

∂

∂x
(uh) = 0, nTº } ¼�s

∂u

∂t
+ u

∂u

∂x
=

ε

We

∂3h

∂x3
+

4

Re h

∂

∂x

(

h
∂u

∂x

)

+
A

h4

∂h

∂x
, n�º } q�s

∂T

∂t
+ u

∂T

∂x
=

1

Pe h

∂

∂x

(

h
∂T

∂x

)

+
Ra

Pe h

(

T 4
a − T 4

)

, n�º } y�s

h `�Á ³ Á Re = ρaU/µ
½ ¾�é `�Ám�ôÁ g3¶�· Â ì�¾�¶�² Å ê Á ³:� We = ReCa = 2ρaU 2/σé `�Á w Á ê Á ³§¶�² Å ê Á ³A� Ca é `�Á­ú µ e ½
Â Â µ=³*g�¶�² Å ê Á ³A� A = A

′

/(2πρU2a3ε3) é `�Á ì ½ Ä
Å Á ¶�¾ ½ ·J¶ Â Á ¾À¾ 
"µ Å µ=¿ Á ³ ú ·	¶�¾Gé¯µ	¶Jé:� Pe = RePr = ρcaU/κ é `�Áä�ñÁAúRÂ
Á é�¶�² Å ê Á ³:�
Ra = 2βaθ3

m/ε κ é `�Á ³6µ	ì ½ µ=é ½ ·	¶ ¶�² Å ê Á ³:� θm
é `�Á ¾À· Â
½ ì ½ c ú µ¡é ½ ·	¶ é Á Åfe Á ³6µ¡éÀ²�³ Á

ê ÁAÂ ·�h h `�½
ú�` é `�Á Â ½Bb ² ½ ì�c Â Å ê Á:ú · Å Á ¾ô¾G· Â ½ ì }
�9`�Á ú�` µ	³¯µ ú é Á ³ ½ ¾Gé ½ ú ¾ ú µ Â Á ¾ ²�¾ Á ìbéÀ· ì Á ³ ½ ¸ Á ¾ g�¾Gé Á Å n�º } ¼
s�� n�º } y�s µ	³ Á é `�Á a£· Â Ä

Â ·�h ½ ¶�´ Æ
a a£·	³ Â
Á ¶�´	é ` � U a£·J³%¸ ÁAÂ · ú9½ é(g n ú µ e ½
Â
Â µ	³/g§·	³%¸ ½ ¾ ú ·	²�¾�s�� a/U a£·	³%é ½ Å Á � εa a£·	³

c Â Å é `�½ ú ¿3¶ Á ¾¯¾Õµ	¶�ì θm
a£·	³Õé Á Å)e Á ³6µ¡é¯²�³ Á n `�Á ³ Á x � t � u µ=¶#ì T µ=³ Á ì ½ Å Á ¶#¾ ½ ·	¶ Â
Á ¾¯¾�s }

� ½ ¶ úRÁ ì�²�³ ½ ¶�´�é `�Á ì Á ³ ½ ¸¡µ¡é ½ ·J¶­·�a�¾/g�¾Gé Á Å n�º } ¼
s Ä nTº } y�sÕé `�Á é Á ³ Å ¾�·�a o(ε) ·J³¯ì Á ³` µ�¸ Á ê ÁAÁ ¶ ½ ´	¶�·J³ Á ìà��é `�Á ¶äé `�Á a£· Â Â ·�h ½ ¶�´ ½ ¶ Á�b ²�µ Â ½ é ½
Á ¾ô¾ ` ·J² Â ìäê Á ¸¡µ Â
½ ì Æ

Re ≤ ε−1, We ≤ 1, A ≥ ε, Pe ≤ ε−1, Ra ≥ εPe .

�9`�Á ê#·J²�¶�ì�µ	³/g ú ·	¶�ì ½ é ½ ·J¶�¾ a£·	³ h � u µ=¶#ì T µ=³ Á é `�Á a£· Â Â ·�h ½ ¶�´ Æ
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u(0, t) = u(1, t) = 0, n�º } ¹A»�s
∂T

∂x
(0, t) = 0, T (1, t) = Tg,

nTº } ¹J¹�s

∂h

∂x
(0, t) = 0,

∂h

∂x
(1, t) = tanα, nTº } ¹:º�s

h `�Á ³ Á Tg

½ ¾�é `�Á ì ½ Å Á ¶�¾ ½ ·	¶ Â Á ¾À¾ a£³6µ Å Á é Á Åfe Á ³¯µ=éÀ²�³ Á µ=¶#ì π

2
− α

½ ¾Ûé `�Á h Á éÀé ½ ¶�´
µ=¶�´ Â Á h ½ é ` é `�Á a£³6µ Å ÁJ}��9`�Á ½ ¶ ½ é ½ µ Â1ú ·	¶#ì ½ é ½ ·J¶�¾ôµ=³ Á ´ ½ ¸ Á ¶­ê.g Æ

h(x, 0) = 1, u(x, 0) = 0, T (x, 0) = T0,
nTº } ¹:û�s

h `�Á ³ Á T0

½ ¾�é `�Á ì ½ Å Á ¶�¾ ½ ·	¶ Â Á ¾À¾ ½ ¶ ½ é ½ µ Â é Á Åfe Á ³¯µ=éÀ²�³ Á ·
aÝé `�Á c Â Å }
�9`�Á Å µJ¾À¾ ú ·	¶�¾ Á ³¯¸¡µ¡é ½ ·J¶ ·
aÝé `�Á c Â Å ì�²�³ ½ ¶�´ ½ é¯¾�é `�½ ¶�¶ ½ ¶�´ ½ ¾ Á
� e ³ Á ¾¯¾ Á ì µ	¾ Æ

∫ 1

0

(h − 1)dx = 0 , n�º } ¹9ë.s
½ é6¾ô¸¡µ Â
½ ì ½ é(g ½ ¾ e ³¯·¡¸ Á ì'ê.g ½ ¶Jé Á ´J³¯µ=é ½ ¶�´ n�º } ¼
s�µ=¶#ì é6µ=¿ ½ ¶�´ ½ ¶3éÀ·sµ ú9ú ·J²�¶3é nTº } ¹A»�s }

�9`�Á ¶�·	¶ Ä Â ½ ¶ Á µ=³%¶�·	¶-��¾�é6µ¡é ½ ·	¶#µ=³*g e ³¯·	ê Â Á Å n�º } ¼
s � n�º } ¹9ë�s ½ ¾�¾À· Â ¸ Á ì ½ ¶ é ½ Å Á é ½ Â
Â
·	¶ Á ·
a�é `�Á a£· Â
Â ·�h ½ ¶�´�¾�é¯· e ú ·	¶#ì ½ é ½ ·J¶�¾ ½ ¾�¾Àµ=é ½ ¾(c Á ì Æ

µ�s�µ¡é6c�¶ ½ é Á é ½ Å Á Å · Å Á ¶3é t = τ µ Å ½ ¶ ½ Å ² Å ¸�µ Â ² Á ·
a h
½ ¾�³ Á µ ú�`�Á ìà� h `�½
ú�`

ú ·	³¯³ Á ¾ e ·J¶�ì�¾ÕéÀ·sµ�¾�é6µ=ê Â
Á c Â Å ¾ ` µ e Á

lim
t→τ

h(x, t) = h(x), lim
t→τ

u(x, t) = u(x), lim
t→τ

T (x, t) = T (x), nTº } ¹:å�s
ê+sDµ=éDé ½ Å Á Å · Å Á ¶3é t = τ é `�Á­Á�z�Á:ú é ½ ¸ Áäú ³ ½ é ½
ú µ Â c Â Å ³À² e éÀ²�³ Á é `�½ ú ¿3¶ Á ¾¯¾ ½ ¾

³ Á µ ú�`�Á ìà��µ¡é0h `�½ ú�` é `�Á µ ú éÀ²�µ Â c Â Å ³¯² e éÀ²�³ Á · ú9ú ²�³¯¾ôµ=é�¾G· Å Á e · ½ ¶3é xr

h(xr, τ) ≈ 0, nTº } ¹ � s
ú s ú · Å)e ²�é¯µ=é ½ ·	¶�¾ôµ	³ Á ú ·J¶3é ½ ¶3² Á ì é ½
Â Â ú ·	¶�ì ½ é ½ ·J¶ T (x, τ) ≈ 1

½ ¾ô¾¯µ¡é ½ ¾ c Á ì }
w Á µ	¾¯¾G² Å Á é ` µ¡éñé `�Á ¾À· Â ²�é ½ ·	¶§·
a#¾/g�¾�é Á Å nTº } ¼�s3� n�º } ¹9ë�s e ·3¾À¾ Á ¾¯¾ Á ¾ é `�Á ³ Á�b ² ½ ³ Á ì

¾ Å ·�·=é ` ¶ Á ¾¯¾ u, h, T ⊂ C4(Ω)
½ ¶ Ω = {0 ≤ x ≤ 1} a£·J³ 0 < t < τ

}

�9U�� \�� � Y+_ ]�� ���4]���� � �

�9`�Á c�¶ ½ é Á �3¸	· Â ² Å Á Å Á é ` ·�ì ½ ¾�²�¾ Á ìmé¯· ú ·	¶�¾GéÀ³¯² ú é~é `�Á ì ½ ¾ ú ³ Á é Á ¾ ú�`�Á Å Á �Fh `�½
ú�`
¾Àµ=é ½ ¾(c Á ¾
é `�Á Å µJ¾À¾A� Å · Å Á ¶Jé¯² Å � `�Á µ=é j�² � ê�µ Â µ	¶ úRÁ ¾+·J¶ Á µ ú�` ú ·J¶Jé¯³À· Â ¸	· Â ² Å Á µ=¶�ì
é `�Á ³ Á a£·	³ Á ·J¶ é `�Á h ` · Â Á e ³¯·	ê Â
Á Å ì�· Å µ ½ ¶ }

w Á ì Á c�¶ Á µ~¶�·	¶�²�¶ ½ a£·J³ Å é ½ Å Á ´J³ ½ ì

Ωt = {tj+1 = tj + 4tj , 4tj > 0, j = 0, . . . , Jτ , t0 = 0, tJτ
= τ}.

�9`�Á ¾ e µ úRÁ ´J³ ½ ì ½ ¾§µ Â ¾G·.¶�·J¶3²�¶ ½ a£·J³ Å �àé `�Á µJì�µ e é6µ¡é ½ ·J¶ ·�a�´J³ ½ ì ¶�·�ì Á ¾ ½ ¾Ûì�·	¶ Á
ì=g�¶�µ Å ½ ú µ Â
Â g�ì�²�³ ½ ¶�´�³ Á µ Â
½ ù µ¡é ½ ·	¶b·
a�é `�Á µ Â ´	·	³ ½ é ` Å }32 ·J³ Å ·	³ Á µ ú9ú ²�³6µ¡é Á µ eSe ³¯· � Ä
½ Å µ¡é ½ ·J¶ ·
a�é `�Á ê�·	²�¶#ì�µ=³*g ú ·J¶�ì ½ é ½ ·	¶�¾fh Á�½ ¶Jé¯³À·�ì�² úRÁ é(h�·b´J³ ½ ì�¾sì ½ ¾ e Â µ úRÁ ì h ½ é `
³ Á ¾ e ÁAú é�é¯· Á µ ú�` ·	é `�Á ³ } 2 ²�¶ ú é ½ ·J¶�¾ u µ=¶#ì T µ=³ Á ì Á c�¶ Á ìä·	¶­é `�Á ´J³ ½ ì
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Ωu,T
x = {xi = i∆x, i = 0, . . . , N + 1, x0 = 0, xN+1 = 1},

h `�½ Â
Á a£²�¶ ú é ½ ·	¶ h
½ ¾�ì Á c#¶ Á ìä·	¶­é `�Á ´	³ ½ ì

Ωh
x = {xi−0.5 = (i − 0.5)∆x, i = 1, . . . , N + 1} .

u ¶­é `�½ ¾4h�µ�g�é `�Á e ³¯·	ê Â
Á Å h ½ Â
Â ê Á ¾G· Â ¸ Á ì'·J¶äµs¾Gé¯µ	´	´ Á ³ Á ì'¾ e µ ú9Á ´	³ ½ ì }
� é Á µ ú�` é ½ Å Á ¾�é Á e ¶�·	é¯µ=é ½ ·	¶�·
a+ì ½ ¾ ú ³ Á é Á a£²�¶ ú é ½ ·J¶�¾ ½ ¾�¾ ½ Åfe Â ½ c Á ì�µ=¶�ì ½ ¶�ì Á ��Á ¾

µ=³ Á · Å ½ éÀé Á ì o å�r }
� h�·sé(g e Á ¾�·�a ú ·	¶3é¯³À· Â ¸	· Â ² Å Á ¾"µ=³ Á ²�¾ Á ì Æ ·J¶ Á a£·	³ u µ	¶�ì T ��µ=¶�ì�µ	¶�·=é `�Á ³!a£·	³

h
} � ·	¶3éÀ³¯· Â ¸	· Â ² Å Á ¾xh ½ é ` úRÁ ¶3é Á ³6¾Dµ=éÛé `�Á ´	³ ½ ì ¶�·�ì Á ¾~µ=³ Á µ eSe Â ½
Á ì é¯·�ì ½ ¾ ú ³ Á é ½
ù9Á

Á�b ²�µ¡é ½ ·J¶�¾6nTº } ¼�s	�Ln�º } y�s }�9`�Á ì ½�z�Á ³ Á ¶ úRÁ µ eSe ³¯· ��½ Å µ=é ½ ·	¶h·
adnTº } ¼�s ½ ¾ ·	ê�é6µ ½ ¶ Á ì ½ ¶3é Á ´	³6µ¡é ½ ¶�´ ½ é ·	¶ é `�Á
ú ·	¶3é¯³À· Â ¸J· Â ² Å Á

[xi−1, xi]

ht +
∆M − ∆M−

∆x
= 0, i = 1, . . . , N + 1, n¦û } ¹�s

h `�Á ³ Á ∆M = ∆Mi =< h >i< u >i .
�9`�Á ¶�·	é¯µ=é ½ ·	¶ <> �1¾ ½ Å ½
Â µ=³ Â g�µJ¾ ½ ¶ o � r��Å Á µ=¶�¾Ûé ` µ=éÛé `�Á ¸¡µ Â ² Á ¾D·
a h µ=¶#ì u µ=³ Á é¯µ	¿ Á ¶b·J¶ é `�Á­ú ²�³¯³ Á ¶3é úRÁ9Â
Â ê�·	³6ì Á ³ } w Á

µ Â ¾G·�²�¾ Á ¶�·=é6µ¡é ½ ·	¶

∆Mi = u+

i hi + u−

i hi+1, ui = u+

i + u−

i ,

u+

i = 0.5(ui + |ui|) ≥ 0, u−

i = 0.5(ui − |ui|) ≤ 0.

��² Å�Å ½ ¶�´s² e nTû } ¹�sÕ·¡¸ Á ³�é `�Á ´J³ ½ ì Ωh
x
h Á ·	ê�é6µ ½ ¶ é `�Á Á�b ²�µ Â ½ é(g

N
∑

i=2

hi∆x = 1 .

u é�µ eSe ³¯· ��½ Å µ=é Á ¾­é `�Á Å µ	¾¯¾ ú ·	¶#¾ Á ³À¸¡µ¡é ½ ·J¶ Á�b ²#µ¡é ½ ·	¶ nTº } ¹Aë�s�h ½ é ` é `�Á µ ú9ú ²�³¯µ ú g
O(∆x)

} u a�é `�Á ê�·	²�¶�ì�µ=³*g�¸¡µ Â ² Á ¾ h(0, tj+1)
µ=¶�ì h(1, tj+1)

µ=³ Á a£·J²�¶�ì6a£³¯· Å ê�·	²�¶�ì Ä
µ=³*g ú ·J¶�ì ½ é ½ ·	¶�¾6n�º } ¹:º�sR�3é `�Á ¶­é `�Á Á�b ²�µ Â ½ é(g

N+1
∑

i=1

hi∆x = 1

´ ½ ¸ Á ¾ O(∆x2) µ eSe ³¯· ��½ Å µ=é ½ ·	¶ ·�a n�º } ¹9ë�s }
2 ·	³1¾À· Å Á ¸¡µ Â ² Á ¾à·
a e µ=³6µ Å Á é Á ³6¾A� Á	} ´ } a£·J³ Â µ	³À´ Á

Re �$h `�½ ú�` ú ·J³À³ Á ¾ e ·J¶�ì"éÀ·�¾GéÀ³¯·	¶�´ú ·	¶�¸ ÁAú é ½ ·J¶ ì�· Å ½ ¶�µ	¶ úRÁ �=h Á ·	ê�é6µ ½ ¶­¾ ½ ¶�´	² Â µ=³ e ³¯·	ê Â
Á Å ¾ h ½ é ` ¾ Å µ Â
Â1ú · Á �sú9½ Á ¶3é¯¾�µ¡é
é `�Á ì Á ³ ½ ¸¡µ¡é ½ ¸ Á ·�a"é `�ÁäÂ
Á µJì ½ ¶�´ ·J³¯ì Á ³ n£ê�·	²�¶#ì�µ=³*g Â µ�g Á ³ e ³¯·	ê Â
Á Å ¾�s } u ¶ e ³¯µ ú é ½
ú9Á �
¾G² ú�` e ³À·Jê Â
Á Å ¾"µ	³ ÁDú�` µ=³6µ ú é Á ³ ½ ùAÁ ìäê.g.ê#·J²�¶�ì�µ	³/g Â µ�g Á ³6¾A�Sh `�Á ³ Á ¾À· Â ²�é ½ ·J¶�¾ ú�` µ	¶�´ Á
¸ Á ³*g a¦µ	¾Gé } w Á ¶�·	é Á é ` µ=é§é `�Á ¾ Á ³ Á ´ ½ ·J¶�¾Dµ Â ¾À· ú�` µ	¶�´ Á­½ ¶ é ½ Å Á µ ú9ú ·J³¯ì ½ ¶�´�éÀ·�é `�Á
e ³À·Jê Â
Á Å ¾ e ÁAú9½ c ú ¾ } u ¶ ·	³6ì Á ³ÛéÀ·�µ eSe ³¯· ��½ Å µ¡é Á ¾G· Â ²�é ½ ·J¶�¾ ·�a"¾G² ú�` e ³À·Jê Â Á Å ¾9� ½ é ½ ¾
¶ ÁAú9Á ¾¯¾Àµ	³/g�é¯·�ì Á ¸ ÁAÂ · e ¾ e ÁAúR½ µ Â ì ½#z5Á ³ Á ¶ ú9Á ¾ ú�`�Á Å Á ¾ }

2 ·	³�µ eSe ³¯· ��½ Å µ¡é ½ ·J¶ ·�aÝé `�Á ¸ ÁAÂ · úR½ é(g Á�b ²#µ¡é ½ ·	¶.¾À² ú�` µ~¾ ú�`�Á Å Á6` µ�¸ Á ê ÁAÁ ¶ e ³¯· Ä
e ·3¾ Á ì ½ ¶do ë�r } u é ` µ	¾Ýµ�¾À² �'úR½
Á ¶3é Â g�´J·�·�ì µ ú9ú ²�³¯µ ú g!a£·	³ ¾ Å µ Â
Â µ=¶#ì Â µ	³À´ Á ¸ ÁAÂ · úR½ é ½
Á ¾ } u ¶
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·	²�³ Å ·�ì ÁAÂ�Á�b ²�µ=é ½ ·	¶ nTº } q�s ` µ	¾
¾ ½ Å ½
Â µ	³Fa Á µ=éÀ²�³ Á ¾A�
h ½ é ` é `�Á�ú ·J¶3¸ ÁAú é ½ ·	¶~·	³+ì ½�z ²#¾ ½ ·	¶
ì�· Å ½ ¶�µ=¶ ú9Á a£·J³�ì ½#z5Á ³ Á ¶3é Re

}-2 ·	³ ½ é¯¾�¶�² Å Á ³ ½
ú µ Â ¾G· Â ²�é ½ ·J¶­µ	¶ ½ Åfe ³¯·¡¸ Á ìs¸¡µ=³ ½ µ	¶3éÕ·
a
é `�Á ¾ ú�`�Á Å Á a£³¯· Å o ë
r ½ ¾ e ³¯· e ·J¾ Á ì

ut̄ +
1

2
(u+0.5u)x̄ = (µ̃+0.5 ux)x̄ +

ε

We
hx̄xẋ −

A

3
(h−3)x, nTû } º�s

h `�Á ³ Á h̄ = 1

2
(h + h+1)

�

µ̃+0.5 = µ+0.5FB(R+0.5), µ+0.5 =
4

Re

h+1

h̄
, R+0.5 =

1

8
Re ∆x u+0.5

h̄

h

µ=¶�ì é `�Á a£²�¶ ú é ½ ·J¶ FB

½ ¾ôµ e ½ Á:úRÁ h ½ ¾ Á�Â ½ ¶ Á µ	³�µ eSe ³À· ��½ Å µ=é ½ ·	¶­·
a R

exp R − 1

}
�9`�Á é Á Åfe Á ³¯µ=éÀ²�³ Á%Á�b ²�µ¡é ½ ·J¶Dµ Â ¾G· ` µ	¾�¾ ½ Å ½ Â µ=³ia Á µ=éÀ²�³ Á ¾A��h `�Á ¶ ½ é ½ ¾�¾À· Â ¸ Á ì ½ ¶ é `�Á

¾ g�¾Gé Á Å ·�a Á�b ²�µ=é ½ ·	¶�¾ih ½ é ` ì�· Å ½ ¶�µ=¶3é ú ·	¶�¸ ÁAú é ½ ·J¶ é Á ³ Å ¾ } w Á e ³¯· e ·J¾ Á µ�ì ½ ¾ ú ³ Á é ½ ù µ Ä
é ½ ·	¶1�ih `�½
ú�` ½ ¾ ú ·	¶#¾�é¯³À² ú é Á ì ²�¾ ½ ¶�´�é `�Á ¾¯µ Å Á e ³ ½ ¶ úR½ e Â
Á	}Ý� ·	³ Á ·¡¸ Á ³A�1µ�³ Á ¾�é¯³ ½ ú é ½ ·J¶ú ·	¶�¶ ÁAú é Á ì h ½ é ` e ` g�¾ ½
ú µ Â"ú ·	³¯³ Á:ú éÀ¶ Á ¾¯¾�·
a�é `�Á ¾À· Â ²�é ½ ·J¶ ½ ¾ ½ Åfe ·3¾ Á ìà�Õµ=é Â Á µ	¾Gé ½ ¶
¾G· Å Á ¾ ½ Å)e Â ÁÛú µ	¾ Á ¾A�=h `�½
ú�` · ú9ú ²�³"µJ¾ e µ=³Àé ½ ú ² Â µ	³ ú µ	¾ Á ¾�·�aÝé `�ÁDú ·	¶�¾ ½ ì Á ³ Á ì e ³À· ú9Á ¾¯¾ }
2 ·	³ Á
� µ Å)e Â Á � Â
Á é�²�¾ ú ·J¶�¾ ½ ì Á ³�µ `�Á µ¡é�éÀ³6µ=¶�¾ a Á ³ e ³¯·	ê Â
Á Å h ½ é ` ·J²�é `�Á µ¡é Á
��ú�` µ	¶�´ Á
h ½ é ` é `�Á µ Å ê ½
Á ¶3é�´Jµ	¾�·	¶�ê#·J²�¶�ì�µ	³ ½
Á ¾A� ½�} Á	} h Á�ú ·J¶�¾ ½ ì Á ³"é `�Á ³ Å µ Â
Â g ½ ¾G· Â µ=é Á ì�c Â Å
¾G²�³/a¦µ ú9Á ¾:n�é `�Á ³ ÁD½ ¾"¶�·­¾G·J²�³ ú9Á é Á ³ Å ½ ¶ nTº } y�s�µ=é Ra = 0 s }��9`�Á ¶�é `�Á é Á Åfe Á ³¯µ=éÀ²�³ Á
·
a c Â Å ³ Á Å µ ½ ¶�¾ ½ ¶ é `�Á�Â ½ Å ½ é6¾�·
a1é `�Á�½ ¶ ½ é ½ µ Â é Á Åfe Á ³¯µ=éÀ²�³ Á µ	¶�ì�é `�Á a£³6µ Å Á é Á Å)e Á ³ Ä
µ¡éÀ²�³ ÁJ} 
"·�h Á ¸ Á ³A� ½ aÕé `�Á ³6µ	ì ½ µ¡é ½ ·J¶Lh ½ é ` µ ú · Â ì Á ³�µ Å ê ½
Á ¶3é�é¯µ	¿ Á ¾ e Â µ ú9Á ��é `�Á ¶�é `�Á
c Â Å é Á Å)e Á ³6µ¡é¯²�³ Á�ú µ=¶�¶�·=éôê Á Â
Á ¾¯¾�é ` µ=¶äé `�Á µ Å ê ½
Á ¶3é�é Á Åfe Á ³¯µ=éÀ²�³ Á	}

��² ú�` é Á ¾Gé¯¾ ` µ�¸ Á ê ÁAÁ ¶ e Á ³ a£·J³ Å Á ìkh ½ é ` µ a Á hlì ½ ¾ ú ³ Á é Á ¾ ú�`�Á Å Á ¾A��µ eSe ³¯· ��½ Ä
Å µ=é ½ ¶�´'é `�Á�ú ·	¶#¾ ½ ì Á ³ Á ì Á�b ²�µ¡é ½ ·J¶ }5� µ	¿ ½ ¶�´ ½ ¶3éÀ·äµ úAú ·	²�¶Jé�é `�Á ³ Á�b ² ½ ³ Á Å Á ¶3é�·
a
é `�Á
Å µ ��½ Å ² Å e ³ ½ ¶ ú9½ e Â
Á a£·J³"é `�Á ¾G· Â ²�é ½ ·J¶�µ=¶#ì�²�¾ ½ ¶�´ Á
� e Á ³ ½ Å Á ¶3é6µ Â ³ Á ¾À² Â é¯¾�·	ê�é6µ ½ ¶ Á ì
h ½ é ` ì ½#z5Á ³ Á ¶3é"ì ½ ¾ ú ³ Á é Á ¾ ú�`�Á Å Á ¾9�=h Á6` µ�¸ Á ¾ Á9Â
ÁAú é Á ì é `�Á a£· Â
Â ·�h ½ ¶�´sì ½ ¾ ú ³ Á é ½
ù µ=é ½ ·	¶1�
h `�½
ú�`.½ ¾�µ=¶�µ	¶�µ Â ·	´J² Á ·
a�é `�ÁDú · Å ê ½ ¶ Á ìä¾ ú�`�Á Å Á µ=¶�ì ½ ¾ ú ·J¶�¾�é¯³À² ú é Á ì.¾ ½ Å ½ Â µ=³ Â g­µ	¾½ ¶po ë�r Æ

(hT )t̄ + (h+1u+0.5T )x̄ = (ϕ̃+0.5 Tx)x̄ +
Ra

Pe

(

T 4
a − T 4

)

, nTû } û�s
h `�Á ³ Á

ϕ̃+0.5 =
h+1

Pe
FB(S+0.5), S+0.5 = ∆x u+0.5Pe .

u ¶Jé Á ´J³¯µ=é ½ ¶�´mn�º } y�sÕ·¡¸ Á ³Õé `�ÁÛú ·J¶3éÀ³¯· Â ¸	· Â ² Å Á
[0, x0.5]

µ=¶�ì é¯µ	¿ ½ ¶�´ ½ ¶3éÀ·sµ úAú ·	²�¶Jé
é `�Á ê�·	²�¶#ì�µ=³*g ú ·J¶�ì ½ é ½ ·	¶.µ¡é x0 = 0 �=h Á ´ Á éôé `�Á ê�·	²�¶#ì�µ=³*g'ì ½ ¾ ú ³ Á é Á�Á�b ²�µ=é ½ ·	¶ Æ

(hT )t̄,0 +
2

∆x
h1u0.5T0 =

2

∆x
ϕ̃0.5 Tx̄,1 +

Ra

Pe

(

T 4
a − T 4

0

)

. nTû } ë�s
�9`�Á�½ é Á ³¯µ=é ½ ·	¶ e ³À· úRÁ ¾À¾ a£·	³ h µ=¶�ì u

½ ¾�ì Á ¾ ú ³ ½ ê Á ì ½ ¶­ì Á é¯µ ½ Â ¾ ½ ¶ o ë�r��3é `�Á ³ Á a£·	³ Á"½ é
h ½ Â
Â ¶�·=é�ê Á e ³ Á ¾ Á ¶Jé Á ì `�Á ³ Á	}��9`�Á ¶�·J¶ Â ½ ¶ Á µ=³�¾ g�¾Gé Á Å nTû } ¹�s	�Ln¦û } ë�s ½ ¾�¾À· Â ¸ Á ì'ê.g'µ=¶½ é Á ³6µ¡é ½ ¸ Á e ³¯· úRÁ ¾À¾A� ú ·	¶#¾ ½ ì Á ³ ½ ¶�´ hs+1 µ	¶�ì us+1 µ	¾ôµ Â ³ Á µ	ìSgfa£·	²�¶�ì Æ
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

























































(
s+1

h
s+1

T )t̄,0 +
2

∆

s+1

h 1

s+1
u 0.5

s+1

T 0 =
2

∆x

s+1

ϕ̃0.5

s+1

T x̄,1

+
Ra

Pe

(

− 4
s

T 3
0

s+1

T 0 + T 4
a + 3

s

T 4
0

)

,

(
s+1

h
s+1

T )t̄ + (
s+1

h +1

s+1
u +0.5

s+1

T )x̄ = (
s+1

ϕ̃+0.5

s+1

T x)x̄

+
Ra

Pe

(

− 4
s

T 3
s+1

T + T 4
a + 3

s

T 4
)

, 1 ≤ i ≤ N ,

s+1

T N+1 = Tg .

nTû } å�s

w Á ¶�·	é Á é ` µ=é�é `�Á e ³ Á ¾ Á ¶3é Á ì Â
½ ¶ Á µ=³ ½ ù µ¡é ½ ·J¶'·
aÝé `�Á ¾À·	²�³ úRÁ é Á ³ Å ½ ¶ nTû } û�sR�QnTû } ë�se ³ Á ¾ Á ³À¸ Á ¾%é `�Á e ` g�¾ ½
ú µ Â1ú ·	³¯³ Á:ú éÀ¶ Á ¾¯¾Õ·�a é `�Á ¾G· Â ²�é ½ ·	¶ }
�9`�Á ¾G· Â ²�é ½ ·J¶m·�a�¾/g�¾�é Á Å nTû } å�s ½ ¾ a£·	²�¶�ìmê.g é `�Á��9` · Å µ	¾sµ Â ´J·	³ ½ é ` Å ��h `�½
ú�`

é¯µ=¿ Á ¾ ½ ¶3éÀ·sµ úAú ·	²�¶Jé�é ` µ¡é Å µ¡é¯³ ½ � ·
a�é `�Á ¾ g�¾Gé Á Å ½ ¾�é ` ³ Á9Á Ä ì ½ µ=´J·	¶�µ Â


























−C0

s+1

T 0 + B0

s+1

T 1 + F0 = 0 ,

Ai

s+1

T i−1 − Ci

s+1

T i + Bi

s+1

T i+1 + Fi = 0, i = 1, . . . , N,

s+1

T N+1 = Tg

h ½ é `

Ai =
τ

(∆x)2

s+1

ϕ̃ i−0.5 +
τ

∆x

s+1

h i, Bi =
τ

(∆x)2

s+1

ϕ̃ i+0.5 ,

Ci =
s+1

h i +
τ

(∆x)2
(
s+1

ϕ̃ i−0.5 +
s+1

ϕ̃ i+0.5

)

+
τ

∆x

s+1
u i+0.5

s+1

h i+1 +
4τRa

Pe

s

T 3,

Fi = h̆iT̆i +
τRa

Pe

(

3
s

T 4
i + T 4

a

)

.

�9`�Á ¾Gé¯µ=ê ½ Â
½ é(g ú ·	¶�ì ½ é ½ ·	¶s·�aàé `�Á��9` · Å µJ¾ Å Á é ` ·�ìs³ Á�b ² ½ ³ Á ¾
é `�Á e ·3¾ ½ é ½ ¸ Á ¶ Á ¾¯¾+·�a
é `�ÁÛú · Á �'úR½
Á ¶3é¯¾ Ai

� Bi
µ=¶�ì Di = Ci −Ai −Bi

} u é4a£· Â
Â ·�h�¾<a£³¯· Å a£·J³ Å ² Â µ	¾�´ ½ ¸ Á ¶
µ=ê�·¡¸ Á ��é ` µ¡é ½ ¶ Á�b ²#µ Â
½ é ½ Á ¾ Ai > 0 µ=¶#ì Bi > 0 µ=³ Á ¾Àµ=é ½ ¾(c Á ìä²�¶ ú ·	¶�ì ½ é ½ ·	¶#µ Â
Â g }��9`�Á
e ·3¾ ½ é ½ ¸ Á ¶ Á ¾¯¾�·
a

Di =
s+1

h +
τ

∆x

(s+1
u i+0.5

s+1

h i+1 −
s+1
u i−0.5

s+1

h i

)

+
4τRa

Pe

s

T 3

ì Á e Á ¶�ì�¾�·J¶�é `�Á~ú�` µ=¶�´ Á ·
a b ²�µ	¶3é ½ é ½
Á ¾ s+1

h µ=¶#ì s+1
u µ=¶#ì ½ é ú µ=¶�ê Á µ ú�`�½
Á ¸ Á ìà�	a£·	³Á
� µ Åfe Â
Á ��ê.gDì ½ Å ½ ¶ ½ ¾ `�½ ¶�´�é `�Á é ½ Å Á ¾Gé Á e }=�9`�Á ¸ ½ · Â µ=é ½ ·	¶§·
a�é `�Á ¾�é6µ=ê ½
Â
½ é(g ú ·	¶�ì ½ é ½ ·	¶Â Á µ	ì�¾~é¯· ¾À· Å Á ³ Á ¾GéÀ³ ½
ú é ½ ·	¶�¾~·	¶mé ½ Å Á ¾�é Á e ¾ }+�9`�Á ³ Á a£·	³ Á � ½ ¶ ·J³¯ì Á ³~éÀ· ·	ê�é6µ ½ ¶ é `�Á

ú ·	³¯³ ÁAú éô¾À· Â ²�é ½ ·	¶­·
a é `�Á e ³¯·	ê Â
Á Å � ½ é ½ ¾�¶ Á:úRÁ ¾À¾¯µ=³*g~éÀ· ú�`�ÁAú ¿�é `�½ ¾ ú ·	¶#ì ½ é ½ ·J¶äì�²�³ ½ ¶�´ú · Åfe ²�é¯µ¡é ½ ·J¶�¾ }
u a�é `�Á�½ é Á ³¯µ=é ½ ¸ Á e ³¯· úRÁ ¾À¾ ½ ¾Fc�¶ ½ ¾ `�Á ìdh `�Á ¶'µ�³ Á9Â µ¡é ½ ¸ Á�ú�` µ=¶�´ Á ·
aàê�·=é ` a£²�¶ ú é ½ ·J¶�¾

u µ=¶�ì T µ=éôé(hÕ·�¾À² ú9ú9Á ¾¯¾ ½ ¸ Á�½ é Á ³6µ¡é ½ ·J¶�¾ ½ ¾ Â
Á ¾¯¾�é ` µ=¶�µ~´ ½ ¸ Á ¶.¾ Å µ Â Â ¸¡µ Â ² Á ��é `�Á ¶�h Á
` µ�¸ Á ³ Á µ ú�`�Á ì'é `�Á ¾Gé Á µJì=gsé `�Á ³ Å µ Â µ=¶#ì­ì=g�¶�µ Å ½
ú ¾À· Â ²�é ½ ·	¶�¾6n�º } ¹:å�s }
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� ·	¶�ì ½ é ½ ·	¶dn�º } ¹ � s ú µ	¶�¶�·=éÝê Á a£² Â c Â Â
Á ì Á
� µ ú é Â g�µ	¶�ì�é `�Á ³ ÁÕÁ
��½ ¾�é6¾ µ ú ³ ½ é ½ ú µ Â é `�½
ú ¿ Ä

¶ Á ¾¯¾ hcri > 0 ��µ¡é4h `�½ ú�` é `�Á µ ú éÀ²�µ Â ³À² e éÀ²�³ Á ·
aÝé `�Á c Â Å · úAú ²�³6¾9�3é `�Á ³ Á a£·J³ Á nTº } ¹ � s½ ¾ ú�` µ=¶�´ Á ìsé¯·
h(xr , τ) = hcri.

nTû } � s
w Á ¶�·=é Á é ` µ¡é�é `�Á ì ½�z�Á ³ Á ¶3é ½ µ Â e ³À·Jê Â
Á Å ê Á:ú · Å Á ¾�¾ ½ ¶�´	² Â µ=³ ½ ¶�é `�Á ³ Á ´ ½ ·	¶ �	h `�Á ³ Á
h µ eSe ³À·3µ ú�`�Á ¾ hcri

}

�0U�� \�� � Y+_ ]�� ��� ���.\��(X��
�9`�Á c Â Å ì�³¯µ ½ ¶�µ	´ Á~½ ¶ é ½ Å Á µ	¶�ì ½ é6¾ Â ·	¶�´ ½ é¯²�ì ½ ¶�µ Â ¸ Á9Â · úR½ é(g h Á ³ Á�½ ¶�¸ Á ¾�é ½ ´3µ¡é Á ì ½ ¶
o ë�r%ê.g µ�¾ ½ Å ½
Â µ	³ ¶3² Å Á ³ ½ ú µ Â ¾ ú�`�Á Å Á µ	¾Ûì Á ¾ ú ³ ½ ê Á ì `�Á ³ ÁJ} u ¶ o ë�r+é `�Á µ=¶�µ Â g�¾ ½ ¾ h�µ	¾
ì�·	¶ Á a£·	³�¸¡µ=³ ½ ·	²�¾"¸�µ Â ² Á ¾�·
a+é `�Ás�ôÁ g�¶�· Â ì�¾�¶�² Å ê Á ³ Re n 1 ≤ Re ≤ 100 s�µ	¶�ì�ì ½ Ä
Å Á ¶�¾ ½ ·J¶ Â Á ¾À¾�
"µ Å µ=¿ Á ³ ú ·	¶�¾Gé¯µ	¶Jé A n 0.1 ≥ A ≥ 0 sR�+h `�Á ¶�é `�Á�ú µ e ½ Â
Â µ	³/gä¶�² Å ê Á ³
Ca µ=¶#ì ε h Á ³ Á c ��Á ìhéÀ· Ca = ε = 0.01 n We ì Á e Á ¶�ì Á ì ·	¶ Â g ·J¶ Re �%¾ ½ ¶ úRÁ
We = 0.01Re s } u é ½ ¾ a£·J²�¶�ì ½ ¶ o ë�r5é ` µ=é�é `�Á ³À² e éÀ²�³ Á e · ½ ¶3é xr

Å ·¡¸ Á ¾%éÀ·§é `�Á ³ ½ ´ ` é
¾ ½ ì Á a£³À· Å é `�Ású9Á ¶3éÀ³6µ Â ¾/g Å�Å Á é¯³/g e · ½ ¶3é x = 0 éÀ·�h�µ=³6ì�¾�é `�Á a£³¯µ Å Á e · ½ ¶3é x = 1µ=¶�ìäµ��Rì ½ Åfe Â Á ��·�a é `�Á c Â Å ½ ¾ a£·J³ Å Á ì'é ` µ¡é Á ¶ Â µ	³À´ Á ¾ ½ ¶.¾ ` µ e Á h ½ é ` é `�Á ´	³¯·�h ½ ¶�´
¸�µ Â ² Á ¾�·
a Re µ=¶�ì A

}à�9`�½ ¾ Å Á µ=¶�¾�é ` µ¡é�é `�Á~½ ¶ Á ³Àé ½ µ Â a£·	³ úRÁ ¾ ` µ�¸ Á µ­ì Á ¾Gé¯µ	ê ½
Â ½
ù9½ ¶�´Á$z5ÁAú é�·	¶ é `�Á c Â Å µ	¶�ì Â
Á µ	ì éÀ· ½ é¯¾~ì�³6µ ½ ¶�µ=´ Á µ=¶�ì ³À² e éÀ²�³ Á µ=é A > 0
}��9`�Á ¸¡µ=¶

ì Á ³fw µ	µ Â ¾xa£·	³ úRÁ ¾~µ Â ¾À· ì Á ¾�é6µ=ê ½
Â ½
ù9Á é `�Á c Â Å ì=g�¶�µ Å ½
ú ¾§µ	¶�ì µ ú9úRÁAÂ Á ³¯µ=é Á é `�Á c Â Å
³À² e éÀ²�³ Á	}

u ¶�é `�Á e ³ Á ¾ Á ¶3é!h�·	³¯¿mh Á a£· ú ²�¾�·	¶�é `�Á§½ ¶=j#² Á ¶ ú9Á ·�a
é `�Á§½ ¶ Á ³Gé ½ µ Â µ	¶�ì.¸¡µ=¶�ì Á ³
wbµJµ Â ¾>a£·	³ úRÁ ¾�·J¶�é `�Á `�Á µ¡é éÀ³6µ=¶#¾(a Á ³A�àµ=¶#ì ¶#µ Å Á9Â g�·	¶ ú ·�· Â ½ ¶�´ }1�"Â ¾À·�h Á'ú ·	¶�¾ ½ ì Á ³
¸�µ	³ ½ ·	²#¾Õ³6µ	ì ½ µ=é ½ ·	¶ Å µ=´J¶ ½ éÀ²�ì Á ¾ôµ=¶�ìä¾GéÀ²�ì=g'é `�ÁA½ ³ Á�z�Á:ú éô·	¶­é `�ÁÛú ·�· Â
½ ¶�´ e ³¯· úRÁ ¾¯¾�µ	¾
µ h ` · Â
Á	}��9`�Á e ³ Á ¾ Á ¶3é Á ì.¶�² Å Á ³ ½
ú µ Â ³ Á ¾À² Â é¯¾�µ=³ Á ·	ê�é6µ ½ ¶ Á ì a£·J³ ú ·J¶�¾Gé¯µ=¶3é"¸¡µ Â ² Á ¾�·�aú · Á	�'úR½
Á ¶3é6¾

Ca = 0.01, ε = 0.01, α = 1.37, P r = 1 .
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u ¶ 2Ý½ ´ } ¹�é `�Á­Á ¸J· Â ²�é ½ ·	¶ ½ ¶ ¾ e µ úRÁ µ	¶�ìbé ½ Å Á ·
a�é `�Á c Â Å é `�½ ú ¿3¶ Á ¾¯¾ h � Â ·	¶�´ ½ Ä

éÀ²�ì ½ ¶�µ Â ¸ Á9Â · úR½ é(g u µ=¶�ì é Á Å)e Á ³6µ¡é¯²�³ Á T µ=³ Á ´ ½ ¸ Á ¶ a£·J³~é `�Á a£· Â
Â ·�h ½ ¶�´ ¸¡µ Â ² Á ¾�·�ae µ=³6µ Å Á é Á ³6¾

A = 0.1, Re = Pe = 1, We = 0.01, T0 = 1.19, Tg = Ta = 1.

� h�·Dì ½�z�Á ³ Á ¶3é%³¯µJì ½ µ¡é ½ ·	¶�¶�² Å ê Á ³¯¾ Ra = 0 µ=¶#ì Ra = 10 h Á ³ Á ²�¾ Á ì }3�9`�Á ³¯² e é¯²�³ Á
·
a�é `�Á c Â Å ½ ¾�·	ê#¾ Á ³À¸ Á ì µ=é x = 0 a£·	³�µ§é ½ Å Á Å · Å Á ¶3é t = 2.4 o ë�r }
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D

Re = Pe = 1
D

We = 0.01
D
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D
Tg = Ta = 1

D
α = 1, 37 � M	�

T (x, t) M��
Ra = 0
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�
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Ra = 10
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u ¶ 2Ý½ ´ } º�h Á e ³ Á ¾ Á ¶3éD³ Á ¾À² Â é¯¾D¾ ` ·�h ½ ¶�´�ì=g�¶�µ Å ½
ú ¾Û·
aôé `�Á é Á Åfe Á ³6µ¡éÀ²�³ ÁJ} u é ½ ¾
¾ ÁAÁ ¶ é ` µ¡éÛé `�Á é Á Åfe Á ³¯µ=éÀ²�³ Á ê ÁAú · Å Á ¾ ú ·	¶#¾�é6µ=¶3éDµ=¶�ì Á�b ²�µ Â éÀ·�é `�Á ¾À· Â
½ ì ½ c ú µ¡é ½ ·J¶
é Á Åfe Á ³6µ¡é¯²�³ Á µ=é
ì ½#z5Á ³ Á ¶3éñé ½ Å Á Å · Å Á ¶3é¯¾A�:é ` µ=é%µ=³ ÁÕÂ
Á ¾¯¾�é ` µ	¶Dé `�Á é ½ Å Á ·
a#³¯² e é¯²�³ Á	}
�9`�Á­ú ·3· Â ½ ¶�´ Å Á:ú�` µ=¶ ½ ¾ Å ½ ¾~ì�² Á é¯· ú ·	¶�¸ Á:ú é ½ ·	¶ µ	¶�ì ú ·	¶�ì�² ú é ½ ·	¶ ½ ¶ é `�Á­ú µ	¾ Á ·�a
Ra = 0 n 2�½ ´ } º# �s���h `�½ Â
Á µ=é Ra = 10 n 2�½ ´ } º�â*s ½ é ½ ¾%ì�· Å ½ ¶�µ¡é Á ì§ê�g§³¯µJì ½ µ¡é ½ ·	¶�µ=¶#ì
é `�Á�Â µ	³À´ Á ³Õ³¯µJì ½ µ=é ½ ·	¶ ú µ=²�¾ Á ¾ a¦µ	¾Gé Á ³ ú ·3· Â ½ ¶�´ }3�9`�Á ¾ Á�ú ·J¶ úRÂ ²�¾ ½ ·J¶�¾%µ	³ Á�ú ·J¶=c�³ Å Á ìsê.g
µ	ì�ì ½ é ½ ·	¶#µ Â ¶3² Å Á ³ ½ ú µ Â ¾ ½ Å ² Â µ¡é ½ ·	¶#¾ e Á ³/a£·	³ Å Á ì h ½ é ` ·=é `�Á ³�¸�µ Â ² Á ¾�·
a Ra � Tg

µ=¶�ì
Ta

}
2 ·	³ Â µ=³¯´ Á ³ Re (Re > 1) é `�Á ¸ Á9Â · úR½ é(g u µ	¶�ì é `�Á é `�½ ú ¿�¶ Á ¾¯¾ h

` µ�¸ Á­Â µ	³À´ Á
µ Åfe Â
½ é¯²�ì Á ¾ µ	¶�ì�é `�Á ³À² e éÀ²�³ Á e · ½ ¶3é Å ·¡¸ Á ¾!a£³¯· Å é `�ÁsúRÁ ¶3é Á ³ x = 0 éÀ·�h�µ=³6ì�¾ôé `�Á
a£³¯µ Å Á e · ½ ¶Jé x = 1

} u ¶­é `�ÁÛú µ	¾ Á ·�a Re = 100 � We = 1 µ	¶�ì A = 0.1 é `�Á ³À² e éÀ²�³ Á½ ¾Õµ ú�`�½
Á ¸ Á ì§é `�Á é ½ Å Á Å · Å Á ¶3é t = 1.757
½ ¶sé `�Á e · ½ ¶Jé x = 0.53 o ë�r }3�9`�Á ¾ Á ³ Á ¾À² Â é¯¾

µ=³ Á ¾ ` ·�hô¶ ½ ¶ 2�½ ´ } û }
u ¶ 2�½ ´ } ë�µ	¶�ì 2�½ ´ } åÕé `�Á+ú ·�· Â
½ ¶�´ô·
a3é `�Á c Â Å ½ ¾ e ³ Á ¾ Á ¶3é Á ì�a£·J³5é `�Á ¾¯µ Å Á ì=g�¶�µ Å ½
ú

e µ=³6µ Å Á é Á ³6¾ôµ=¶�ì T0 = 1.19 ��ê�²�éôé(hÕ·'ì ½#z5Á ³ Á ¶3é4a£³6µ Å Á µ=¶�ì.µ Å ê ½
Á ¶3éôé Á Åfe Á ³¯µ=éÀ²�³ Á
³ Á ´ ½ Å Á ¾�µ=³ Á�ú ·	¶�¾ ½ ì Á ³ Á ì Æ

µ�s Tg = 1, Ta = 1 n¦¾ Á9Á 2�½ ´ } ë.s��
ê+s Tg = 1.15, Ta = 0.9 n¦¾ Á9Á 2�½ ´ } å�s }
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D
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D
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D
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D
T0 = 1.19

D
Tg = Ta = 1 � M	�

T (x, t) M��
Ra = 0 � ?�� T (x, t) M$�

Ra = 10
-

� · Åfe ²�é6µ¡é ½ ·	¶#¾Dµ=³ Á ì�·J¶ Á a£·J³§³6µ	ì ½ µ¡é ½ ·J¶ ¶3² Å ê Á ³6¾ Ra = 0 µ=¶�ì Ra = 10
} u a

é `�Á ³ Á'½ ¾Û¶�·�³¯µJì ½ µ¡é ½ ·	¶kn 2�½ ´ } ë5 �s�� é `�Á ¶ é `�Á­ú ·J¶�¸ ÁAú é ½ ·	¶ ì�· Å ½ ¶�µ=é Á ¾§µ=¶�ìbé `�Á é Á Å~Ä
e Á ³¯µ=éÀ²�³ Á e ³¯·
c Â Á e ³À·	éÀ³¯²�ì Á ¾+é¯·�h�µ	³¯ì�¾+é `�Á e · ½ ¶3é�·�a ³À² e éÀ²�³ Á x = 0.53 ³ Á µ ú�`�½ ¶�´ é `�Á
¾G· Â ½ ì ½ c ú µ=é ½ ·	¶'é Á Åfe Á ³6µ¡éÀ²�³ Á T = 1 a£·J³ôµÛé ½ Å Á Å · Å Á ¶3é�¾ Å µ Â Â
Á ³Õé ` µ	¶ é `�Á ³À² e éÀ²�³ Á
é ½ Å Á � t = 1.37

}
u aàé `�Á ³¯µJì ½ µ¡é ½ ·	¶ ½ ¾ ½ ¶ ú9Â ²#ì Á ìà�3é `�Á ¶äµ ú ·�· Â ½ ¶�´Û·�a1é `�Á c Â Å é ½
Â Â é `�Á ¾À· Â
½ ì ½ c ú µ¡é ½ ·J¶

é Á Åfe Á ³6µ¡é¯²�³ Áä½ ¾~µ ú9ú9Á9Â
Á ³6µ¡é Á ìà� ê�²�é�é `�Á é Á Åfe Á ³¯µ=éÀ²�³ Á e ³¯·=é¯³À²#¾ ½ ·	¶ ½ ¾~¸ ½ ¾ ½ ê Â Á µ=´3µ ½ ¶
n¦¾ Á9Á 2�½ ´ } ë5â§µ	¶�ì 2Ý½ ´ } å�sÛéÀ·�h�µ=³6ì�¾Dé `�Á e · ½ ¶3é x

ú ·	³¯³ Á ¾ e ·	¶�ì Á ¶3éDé¯· é `�Á Å ½ ¶ ½ Å ² Å
·
a0c Â Å é `�½
ú ¿�¶ Á ¾À¾~µ¡é~é `�Á.ú ²�³À³ Á ¶3éDé ½ Å Á Å · Å Á ¶3éA� ½�} ÁJ} � x = 0.55 µ=é t = 1.3668a£·	³ é `�Á c�³6¾�é§³ Á ´ ½ Å Á µ	¶�ì x = 0.56 µ=é t = 1.3245 a£·J³ é `�Á ¾ Á:ú ·J¶�ìb³ Á ´ ½ Å ÁJ} �9`�Á
µ Å ê ½ Á ¶Jé%µ	¶�ì:a£³¯µ Å Á é Á Åfe Á ³6µ¡é¯²�³ Á ³ Á ´ ½ Å Á ¾
ì�· ¶�·=é ` µ�¸ Á µ ¾ ½ ´	¶ ½ c ú µ=¶3é ½ ¶Sj�² Á ¶ úRÁ ·	¶
é `�½ ¾�·	ê�¾ Á ³¯¸¡µ¡é ½ ·	¶�µ	¶�ì�é `�Á ·	¶ Â g�ì ½#z5Á ³ Á ¶ úRÁD½ ¾�é ` µ=é�a£·J³ Tg = 1.15, Ta = 0.9 é `�Á
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-

ú ·�· Â
½ ¶�´ ½ ¾ô¾ Â
½ ´ ` é Â gfa¦µ	¾Gé Á ³ }��9`�½ ¾ ú µ	¶­ê Á�Á
� e Â µ ½ ¶ Á ì­ê.g�é `�Á é `�Á�Â µ	³À´ Á ³�¸¡µ Â ² Á ·
a é `�Á
³¯µJì ½ µ=é ½ ·	¶ é Á ³ Å ½ ¶ nTº } y�s }

�9`�Á é Á Åfe Á ³6µ¡éÀ²�³ Á e ³À·�c Â
Á e ³¯·=é¯³À²#¾ ½ ·	¶�é Á ¶�ì ½ ¶�´~éÀ·§ê�³ Á µ=¿�² e µ¡é�é `�Á é `�½ ¶�¶ Á ³ô³ Á Ä
´ ½ ·	¶ ·
a�é `�Á c Â Å ½ ¾ ú ·J¶=c�³ Å Á ì�ê.g�µJì�ì ½ é ½ ·	¶�µ Â ¶�² Å Á ³ ½
ú µ Â	ú µ Â ú ² Â µ¡é ½ ·J¶�¾ h ½ é ` ì ½#z5Á ³ Á ¶3é
a£³¯µ Å Á ��µ Å ê ½
Á ¶3é�é Á Åfe Á ³6µ¡é¯²�³ Á ³ Á ´ ½ Å Á ¾�µ	¶�ì~³¯µJì ½ µ¡é ½ ·	¶§¶�² Å ê Á ³6¾ }=�9`�Á ¾ Á ³ Á ¾G² Â é¯¾
µ	³ Á
¶�·=é�´ ½ ¸ Á ¶ ½ ¶äé `�Á e ³ Á ¾ Á ¶Jé4h�·	³¯¿ }

�9`�Á ¸¡µ=¶ ì Á ³>wbµJµ Â ¾4a£·J³ ú9Á ¾ ` µ�¸ Á ¶�·­¸ ½ ¾ ½ ê Â Á§Á$z5ÁAú é�·	¶.é `�Á�ú ·�· Â
½ ¶�´ e ³¯· ú9Á ¾¯¾9� ½ a
Re ≤ 1

}	�9`�Á�½ ¶Sj�² Á ¶ úRÁ ·�a�é `�Á�½ ¶ Á ³Àé ½ µ Â a£·	³ úRÁ ¾+·	¶~é `�Á�ú ·	¶�¸ ÁAú é ½ ·J¶~ì�² Á éÀ· ½ ¶ ú ³ Á µ	¾ Á ì
Re > 1 µ=é é `�Á e ³ Á ¾ Á ¶ úRÁ ·�a�é `�Á ¸¡µ=¶Dì Á ³ wbµJµ Â ¾ a£·J³ ú9Á ¾ ½ ¾ Á ¸ ½ ì Á ¶3éih `�Á ¶xh ÁÕú · Åfe µ=³ Á
é `�Á e Â ·=é6¾�·
a 2�½ ´ } º�h ½ é ` é ` ·J¾ Á ·
a 2�½ ´ } ë } u ¶�é `�ÁsÂ µ¡éGé Á ³ ú µ	¾ Á é `�Á ¾ ½ ¶�´J² Â µ=³ ½ é(g�·�a
é `�Á ì=g�¶�µ Å ½
ú e ³¯·	ê Â
Á Å ½ ¾�é¯³¯µ	¶�¾ a Á ³¯³ Á ìséÀ·~é `�Á é `�Á ³ Å µ Â e ³À·Jê Â
Á Å }

�9U�� Z W!]/�/\ �._(Z W �
u ¶ é `�Á e ³ Á ¾ Á ¶Jé)hÕ·J³À¿ph Á ¾GéÀ²�ìSg é `�Á.ú ·�· Â ½ ¶�´�·�a�µ a£³ ÁAÁ é `�½ ¶ c Â Å µ¡éÀé¯µ ú�`�Á ì é¯·bµ
³ Á:ú é¯µ	¶�´	² Â µ	³0a£³6µ Å Á ²�¶�ì Á ³�é `�Á µ ú é ½ ·J¶�·
a%¸¡µ	¶ ì Á ³>w µ	µ Â ¾!a£·	³ úRÁ ¾ }1� ¶�é `�Á ê�µ	¾ ½ ¾�·�a
é `�Á�Â · ú µ Â a£·J³ Å ·�a�é `�ÁôÁ ¶ Á ³À´�g Á�b ²�µ¡é ½ ·J¶~ì Á ³ ½ ¸ Á ì ½ ¶mo q�r�µ	¶�ìDé `�Á ì=g�¶�µ Å ½ ú�Á�b ²�µ=é ½ ·	¶�¾
ì Á ³ ½ ¸ Á ì ½ ¶ o û��ñë�r�� é `�Á ¹:ç ¶�·	¶ Â
½ ¶ Á µ=³Dé `�Á ³ Å · ��ì=g�¶�µ Å ½ ú e ³¯·	ê Â Á Å ½ ¾ a£·J³ Å ² Â µ¡é Á ì }
2 ·	³ ½ é¯¾ô¾À· Â ²�é ½ ·	¶ ��µ ú ·	¶�¾ Á ³¯¸¡µ¡é ½ ¸ Á ì ½�z�Á ³ Á ¶ úRÁ ¾ ú�`�Á Å Á ·	¶.µ~¾Gé¯µ	´	´ Á ³ Á ìs¾ e µ ú9Á ´J³ ½ ì ½ ¾e ³À· e ·3¾ Á ì }

ý�² Å Á ³ ½ ú µ Â ³ Á ¾G² Â é6¾Aa£·J³+é `�Á c Â Å é `�½
ú ¿�¶ Á ¾À¾A� ½ é¯¾ Â ·	¶�´ ½ é¯²�ì ½ ¶�µ Â ¸ Á9Â · úR½ é(gsµ=¶�ì�é Á Å~Ä
e Á ³¯µ=éÀ²�³ Á Á ¸	· Â ²�é ½ ·J¶ ½ ¶ é ½ Å Á µ=³ Á ·Jê�é¯µ ½ ¶ Á ìpa£·	³�ì ½�z�Á ³ Á ¶3é �ôÁ g�¶�· Â ì�¾Û¶�² Å ê Á ³¯¾ Ren 1 ≤ Re ≤ 100 s��Õì ½ Å Á ¶#¾ ½ ·	¶ Â
Á ¾¯¾ 
�µ Å µ=¿ Á ³ ú ·	¶�¾Gé¯µ	¶Jé A n 0 ≤ A ≤ 0.1 ssµ	¶�ì
³¯µJì ½ µ=é ½ ·	¶ ¶�² Å ê Á ³6¾ Ra n 1 ≤ Ra ≤ 10 s }��9`�Á a£· Â
Â ·�h ½ ¶�´�¶�² Å ê Á ³¯¾Dµ=³ Á µ	¾¯¾G² Å Á ì
c ��Á ì Æ

• é `�Á�ú µ e ½ Â
Â µ	³/g�¶�² Å ê Á ³ Ca = ε = 0.01 � ½�} ÁJ} �Aé `�Á w Á ê Á ³Ý¶�² Å ê Á ³ We = 0.01Re �
• é `�Á � ³6µ=¶#ì�é Â ¶�² Å ê Á ³ Pr = 1 � ½T} Á	} ��é `�Á �ñÁAúRÂ
Á é�¶�² Å ê Á ³ Pe = Re

}
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µ�³ Á ¾G² Â éñ·
a#é `�Á e Á ³/a£·	³ Å Á ì§¶3² Å Á ³ ½ ú µ Â µ=¶�µ Â g�¾ ½ ¾A��h Á�ú µ	¶ Å µ=¿ Á é `�Á a£· Â
Â ·�h ½ ¶�´

¥¯�=��¥9©L�����¦�¡��� Æ
½ sÕé `�Á ½ ¶ ú ³ Á µ	¾ Á ·
añ³¯µJì ½ µ=é ½ ·	¶ Â Á µ	ì�¾�é¯·fa¦µ	¾Gé Á ³ ú ·�· Â
½ ¶�´sµ	¶�ì ³ Á µ ú�`�½ ¶�´Dé `�Á ¾À· Â
½ ì ½ Ä

c ú µ=é ½ ·	¶­é Á Åfe Á ³6µ¡é¯²�³ Á ê Á a£·J³ Á Á ¸ Á ¶3é¯²�µ Â ³¯² e éÀ²�³ Á ü
½ ½ sñé `�Á!`�Á µ¡é ú ·	¶�¸ ÁAú é ½ ·J¶ ú µ	²�¾ Á ¾
é Á Åfe Á ³¯µ=éÀ²�³ Á ê�³ Á µ	¿§² e ½ ¶ä¾ e µ úRÁ e · ½ ¶3é¯¾ ú ·J³À³ Á Ä

¾ e ·	¶�ì ½ ¶�´'éÀ·'é `�Á é `�½ ¶�¶ Á ³!c Â Å ³ Á ´ ½ ·J¶�¾A��µ=¶�ì�é `�Á ¾ Á é ½ Å Á ¾ Å · Å Á ¶Jé6¾"µ	³ ÁÛÂ
Á ¾¯¾ôé ` µ=¶
·	³�µ e	e ³À·3µ ú�`�½ ¶�´Dé `�Á é ½ Å Á Å · Å Á ¶3é6¾�·
a c Â Å ³À² e éÀ²�³ Á	}

�9`�Á�Â µ¡éGé Á ³ ú ·J¶ úRÂ ²�¾ ½ ·J¶ ½ ¾­¾ ½ Å ½ Â µ=³ éÀ· ·J¶ Á ·Jê�é¯µ ½ ¶ Á ì a£·	³ä¾G²�³ a¦µ ú é¯µ	¶3é¯¾ n Å µ	¾¯¾*s
éÀ³6µ=¶�¾ a Á ³:��µ	¾�³ Á e ·J³Gé Á ì ½ ¶ o º��à¹A»��à¹J¹'r }��9`�Á ³ Á a£·J³ Á é `�Á�½ ¶ Á ³Àé ½ µ Â a£·J³ ú9Á ¾ÕéÀ·J´ Á é `�Á ³9h ½ é `
é `�Á ¸�µ	¶ ì Á ³:wbµJµ Â ¾6a£·J³ ú9Á ¾A� h `�½ ú�` ì Á ¾Gé¯µ	ê ½
Â ½
ù9Á é `�Á c Â Å ì=g�¶�µ Å ½ ú ¾�o ë
r�� ` µ�¸ Á é `�Á
¾Àµ Å Á�Á�z�Á:ú é�·	¶­é `�Á é Á Åfe Á ³6µ¡é¯²�³ Á c ÁAÂ ì }

�9`�Á ¾À· Â
½ ì ½ c ú µ¡é ½ ·	¶ e ³¯·	ê Â
Á Å � é¯µ=¿ ½ ¶�´ ½ ¶Jé¯·�µ úAú ·J²�¶3é e ` µ	¾ Á � ú�` µ=¶�´ Á�ú ·	¶#ì ½ é ½ ·J¶�¾
n ½�} ÁJ} ��é `�Á �3é Á a¦µ=¶ e ³À·Jê Â
Á Å s%µ	¶�ì é `�Á c Â Å ì=g�¶�µ Å ½ ú ¾ h ½
Â Â ê Á ¾�é¯²�ì ½
Á ì ½ ¶.µ ú ·	¶3é ½ ¶�² Ä
µ¡é ½ ·	¶ä·
a�é `�Á e ³ Á ¾ Á ¶3é9h�·	³¯¿ }
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